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6811 Solution 9.1. Part a) Choose negative logic to match E1

$4000 to S$SFFF 010X, XXXX, XXXX , XXXX

$2000 to $27FF 0010, OXXX, XXXX, XXXX

$SFF00 to S$FFFF 1111,1111, XXXX, XXXX choose just Al3
Select = A13

Part b) Fill in the combined table.

Select R W El G W
0 0 0 0 1 1

0 1 0 0 0 1

0 0 0 0 1 1

0 0 1 0 1 0

1 0 0 1 X X
1 1 0 1 X X
1 0 0 1 X X
1 0 1 1 X X
E1 =AI3 G =R W =W

Part c¢) Show the digital interface
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        Prob 9.2                                          [image: image3.png]Select R/'W CS1 CS0 WE Function
0 0 -0 X X off

0 1 0 X X off

1 0 1 0 1 write

1 1 1 0 0 read

or

Select R/W Cs1 CSO WE Function
0 0 X 1 X off

0 1 X 1 X off

1 0 1 0 1 write

1 1 1 0 0 read

Part b) RDA = (later( AdV,d CS0 ,TCS1)+100,earlier( AdN,T CS0 ,1CS1))
Part ¢) Either WDR = (T CS0 -100, T CS0 ) or WDR = (4CS1-100, LCS1).

Part d) When E=1, these two tables must match. First case, synchronize CS0 :

Select R/W E CS1 CSo

0 0 0 0 X

0 0 1 0 X

0 1 0 0 X

0 1 1 0 X

1 0 0 1 1

1 0 1 1 0

1 1 0 1 1

1 1 1 1 0
CS1 = Select CS0 = E WE= R/W
Second case, synchronize CS1:

Select R/W E CSs1 CS0
0 0 0 0 X

0 0 1 0 X

0 1 0 0 X

0 1 1 0 X

1 0 0 0 X

1 0 1 1 0

1 1 0 0 X

1 1 1 1 0
CS1 = Select*E CS0 =0 WE= R/'W
This third case does not work but RDA=(350,500) does not overlap RDR=(450,510)
CS1=E CS0 = Select WE = R/W
This fourth case is OK

CS1=1 CSO0 = E-Select WE= R/W

Part ¢) Digital circuit requires the 74HC573 latch 74HCxx chip numbers.

Part f) Show the combined write cycle timing diagram.
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(WE looks like CS1)




